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SN S
g =g &9 2 A
Sl SOMAIBIAIY BE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 125,200
403 MtXISHHSA=0l& 156,500 0 156,500
< 31,300
Al 125,200
02 S 2SO CHEA 2 X THE At H 156,500 0 156,500
OF2 HE M=kl E==ZA 156,500, 000& 156,500
< 31,300
Al 125,200
ANZSE2 St ALY 100,000 50,000 50,000
Xl 70,000
< 6,000
Al 24,000
207 A RO H] 100,000 50,000 50,000
Xl 70,000
< 6,000
Al 24,000
01 A7 39 100,000 50,000 50,000
OLEtSLUHEMNE XNAAS2SHAY
100,000, 000& 100,000
Xl 70,000
< 6,000
Al 24,000
SHE 832 29,000 29,000 0
= 14,500
Al 14,500
307 21201 A 29,000 29,000 0
= 14,500
Al 14,500
02 IAHFAAHEX 29,000 29,000 0
Os0E &ZLdH 29,000,000& 29,000
= 14,500
Al 14,500
DI ==X 2HAMZ 660,000 0 660,000
X 462,000
< 39,600
Al 158,400
403 A X EHH S 20l A 660,000 0 660,000
Xl 462,000
< 39,600
Al 158,400
02 I 2S0ICHet A== OH & Ar H 660,000 0 660,000
Ol =S 4sAg
660,000,000 660,000
X 462,000
= 39,600
Al 158,400
ESAMA SEEHIAY 1,000,000 1,000,000 0




SN sYEUY
M ol 42 & IHH
ol SMADIBAIE BE CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 700,000
< 60,000
Al 240,000
403 MtXISHH S =0l & 1,000,000 1,000,000 0
X 700,000
< 60,000
Al 240,000
02 S 2SO HEAHE X HE Ar H 1,000,000 1,000,000 0
OESAMA SEEH A  1,000,000,000& 1,000,000
Xl 700,000
< 60,000
Al 240,000
SAMHATHI SSEHAE 2,394,575 2,000,000 394,575
Xl 1,678,000
< 143,829
Al 572,746
403 XSS X201 & 2,394,575 2,000,000 394,575
Xl 1,678,000
< 143,829
Al 572,746
02 SO 2SO CHSHAHE X O & A H 2,394,575 2,000,000 394,575
OSMHAMX SEEHAE 2,394,575,000& 2,394,575
Xl 1,678,000
< 143,829
Al 572,746
ANZ el A EHE =AY 1,100,000 311,000 789,000
Xl 880,000
< 110,000
Al 110,000
403 MHXSHHSA=0l& 1,100,000 0 1,100,000
Xl 880,000
< 110,000
Al 110,000
02 SJ|1 2SOl CHSHAt 2 X O & AF I 1,100,000 0 1,100,000
ORNEEHO M=Kl Ex=3A 550,000,000& 550,000
X 440,000
< 55,000
Al 55,000
oEY T8= M=K 2+Z2A 550,000,000 550,000
Xl 440,000
< 55,000
Al 55,000
OlcH Xl EHIDIES & =Xl 22 128,023 0 128,023
206 M= Hl 1,400 0 1,400
01 =8l 1,400 0 1,400
OO0IcHA sHEHDOISE & HAXM
200,000& = 73 1,400
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SN sYEUY
M ol 42 & IHH
CHel SUMAIIBAIE BE (el @2)
5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e HREZ
307 glz2tol & 91,000 0 91,000
05 RIZHRI & 3 91,000 0 91,000
OO0lchiXl sHEHOSE 4 ¥ s&Ea 2e
3,000,000& = 3H » 73 63,000
OO0lchXl sHEHOISE HME22Y
2,000,000& = 24 « 73 28,000
401 Al HI K 201 I 35,623 0 35,623
01 A& HI 35,623 0 35,623
O0IcHX sHEHDOIESE M=
15,623,000& * 13l 15,623
OO0IcHXl sHEHDOIESE |X2el
20,000,000& 20,000
& sk2el 57,523 69,397 A 11,874
J| 45,523
Al 12,000
s &el 12,000 23,874 A 11,874
201 Let24d] 7,200 11,166 A 3,966
02 2324l 7,200 11,166 A 3,966
Os8si =& =2 1,200,000 * 13l 1,200
OsgAEXNAXNF (BB oiM) 1=
1,000,000& * 2J0 Ab * 33l 6,000
202 O4dl 4,800 4,800 0
01 =S LHYI 4,800 4,800 0
O=sA2eltl 20,000& = 5% = 48 4,800
sAolgs2XE(I13) 45,523 45,523 0
| 45,523
101 @124 dl 45,523 45,523 0
| 45,523
4 JI2ZtHZ22XRHEES 45,523 45,523 0
OJIZtHZ22Xs B+ 45,523,000 45,523
J| 45,523
HE2AAH 68,999 63,632 5,367
JlE3l 68,999 63,632 5,367
Jl2&l 50,180 47,524 2,656
201 Let24E] 20,080 18,424 1,656
01 At 22l 20,080 18,424 1,656
OJlegfsd 233l 10,000, 000& 10,000
o=gd (JIEZHl) 10,080, 000& 10,080
202 O4dl 21,600 21,600 0
01 = LH o4 1l 21,600 21,600 0
O©JIEZH 21,600,000& 21,600
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